Exam III; F4360; Spring, 2003; 10:00 Class


Name ______________________________

Short-answer questions/problems

1.  What is the primary similarity between an income bond and a floating rate bond?
2.  What are two ways in which preferred stock is similar to equity?

3.  Who gets to buy newly issued stock if it is issued through a rights offering?

4.  One of the costs associated with a cash offering is the underpricing.  Briefly explain this cost.

5.  Assume Firm #1 and Firm #2 produce the same product.  However, Firm #1 uses a highly automated production process with high fixed costs and low variable costs per unit, while Firm #2 uses a labor intensive production process with low fixed costs and high variable costs per unit.  Which firm’s assets will tend to have a higher beta?
6.  Give one reason it may be difficult to estimate the beta of a potential new project using historical returns on similar assets.
7.  Assume that Slick Oil Inc.’s stock has a beta of 0.34 and that Slick Oil’s bonds have a beta of 0.20.  Slick Oil’s stock has a market value of $ 250 billion and a book value of $75 billion.  Slick Oil’s bonds have a market value of $8 billion and a book value of $10 billion.  What is the beta of the firm’s assets?
8.  Assume that the weighted average cost of capital for Cool Air Inc. is 10.3%.  List one reason that 10.3 may not be the number Cool Air should use as an estimate of the required return on a project it is considering undertaking.

9.  What types of projects is Morrow Inc. likely to incorrectly reject if it uses the beta of the firm’s existing assets as a proxy for the beta of a new project being considered.
10.  Assume that you own stock in a firm that has just announced plans to issue debt and use the proceeds to repurchase stock.  How will this change affect the risk of the stock you own?
Problems/Essays

1.  Considering only tax issues, discuss the changes in the current tax U.S. tax code that would cause the typical firm to want to increase the amount of debt in their capital structure.  Note that there is more than one such change and you should discuss these changes separately along the lines of:  change #1: blah, blah, blah, blah; change #2:  blah, blah, blah; etc.
2.  Ignoring all tax-related issues, what characteristics of a firm might lead both the firm’s stockholders and managers to want the firm to avoid using debt as a source of funding?
